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Philosophy

Logic Worksheet

Criticizing Definitions

Which rule or rules are broken in the following definitions?
1. An army is the branch of a country’s military that uses tanks.

2. A craftsman is someone who makes what he does look easy.

3. A conspiracy is a collusion in machination.

4.  Running is an aerobic activity useful for quick weight loss.
5. Thinking is a purposeful mental activity whose goal is to avoid error.
Determining if there is an Argument

Read the following short paragraphs and determine whether or not there is an argument. If there is an argument, circle the conclusion and underline the premises.

a. Since treating people like objects is morally wrong. And since using people sexually treats them like objects, hence it is wrong to use people sexually.
b. All killing is morally wrong and since capital punishment is a kind of killing, thus it too is morally wrong.
c. Euthanasia means that someone who is terminally ill chooses to die. They often choose to go off of life support or they take a lethal dose of medication. I’m sad when that happens.
d. Privacy is necessary for a healthy, functioning society. Without privacy people are relegated to behaving as if they are less than human. They no longer choose to act morally, but they are forced to act a certain way. When people are forced to act a certain way, they cannot create a healthy functioning society.
e. We should feed starving people. It is so hard to look at the faces of children who need food in third world countries. They are so needy.
f. Being a person implies that you have a complicated and highly evolved sense of self. Fetuses do not have a complicated and highly evolved sense of self. Since the killing of a fetus is not killing a person, abortion is morally allowable. 
Complete the following arguments

Arguments – With the following arguments either a premise or the conclusion is missing. Your task is to fill in the missing proposition. 

	A.
1. All men are mortal.


2. Socrates is a man.

3. So,   ___________________________


	B.
1. If there are footprints, then there was a burglar.

2. There are footprints.

3. Hence,   ___________________________

	C.
1. The first cat I saw on my block was black.

2. The next few cats I saw on my block were black.


3. I saw a few more black cats on my block.
4. Thus, _________________________________


	D.
1. It is wrong to cause unnecessary pain.

2. Eating animals causes unnecessary pain.

3. It is not necessary to eat animals.

4. So, _________________________________



	E.
1. If capital punishment deters crime, then it is morally justifiable.

2._______________________________

3. Therefore, capital punishment is morally justifiable.


	F.
1. Either we can feed the world by offering food aid, or we can let the populations of the world find their natural levels.

2. _________________________________________
____________________________________________

3. So, we can feed the world by offering food aid.



	G.
1. Either we can make abortions illegal and go back to the “old days” or we can keep things as they are and have many abortions performed.
2. If we make abortions illegal and go back to the “old days,” then many women will opt for dangerous, “back alley” abortions.

3. If we can keep things as they are and have many abortions performed, then there will be a lot of civil unrest.

So,_______________________________________

__________________________________________


	


Make a valid argument that uses the following propositions as conclusions. (Remember that valid arguments are ones in which if the premises are true then the conclusion must be true.) Each argument should have two premises and the conclusion.
1. Abortion is morally wrong.
2. Abortion is morally allowable.
